
Model -  oggibr80

OWNER’S MANUAL

SAPORE OGGI 80cm

Page 1 of 8



Page 2 of 8



Prior to assembly, read the instructions carefully. Check all parts against the parts list. Carry out 
assembly on a soft surface to avoid scratching. Please retain this information for future reference. 
For ease of assembly only loosely tighten bolts and then tighten fully when assembly is complete.

STEP 1 - Attach 2 x short bracket (7) to 2x long bracket (6). 

STEP 2 - Attach 2 x legs (9) , 2 x legs (8) , 1 x handle (5) to STEP 1 and fix by 14 x M8
                bolts (A) , 16 x Φ8 flat washers (B) , 16 x Φ8 spring washers (C) and 16 x M8
                nuts (D) . 

Page 3 of 8



STEP 3 - Attach1 x bottom shelf (12) to STEP 2 and fix by 8 x M8 long bolts (E) , 
                8 x Φ8 flat washers (B) , 8 x Φ8 spring washers (C) and 8 x M8 nuts (D).
                

STEP 4 - Feed wheel  axle (11) through holes in wheel trolley section(8)
                ,feed 2 x M12 washers (G) and attach wheels (10) securing  with
                 1 x M12 nut (F) per wheel. Enlarged view below for your reference.

STEP 5 - Li� the oven and a�ach to well-assembled trolley
                and fix by 4 x M6 bolts (H), 4 x Φ6 flat washers (I) 
                and 4 x Φ6 spring washers (J). 

Note - take care when handling, cau�on heavy load, 
             you should seek assistance to li� this oven.

STEP 6 - A�ach chimney cap (1) to chimney (2) 
                and feed chimney(2) to oven body (3).

STEP 7 - A�ach door (4) to oven body (3).

Page 4 of 8



1

2

3

4

5

6
7

8

10

9

11

12

B(24x)
Φ8 Flat Washer

E(8x)
M8*35 Bolt

F(2x)
M12 Nut

G(4x)
Φ12 Flat Washer

Screw list

H(4x)
M6*20 Bolt

J(4x)
Φ6 spring washer

I(4x)
Φ6 flat washer

A(14x)
M8*20 Bolt

C(24x)
Φ8 Spring Washer

D(24x)
M8 Nut

Chimney 1
Oven body 1

1
1

Door

Handle

1
2
3
4
5

Chimney cap 1

Long bracket6 2

Legs with axle hole 2
Legs 2

2
1

Wheel

Axle

7
8
9

10
11
12

Short bracket 2

Bo�om shelf 1

Page 5 of 8



Page 6 of 8



Page 7 of 8



Page 8 of 8


